W09 NOYSOBYM} MMM

VWK

REHFMLM TR

WCE[160/1 - 2 AR/

A H I
a HHBHO -

P
\}“)
MR ) [
060: 4 AI# tH 710.6kN(FBE0.5MPaBs)  100:5L AT 771.0kN (S E0.5MPaB% )
160:ELHi i 11.6kN(SBE0.5MPaBs)  250:4ELH t 512.5kN (5 EE0.5MPad¥)

400: 57 EL# 1 14.0kN (4 0. 5MPaB¥)

W02 NOYSORYMI MMM

EEEW
A EPRALLA i 1. WHETEERGNORETERAML (44) FHER 1 &b
uﬁé ). R FEME i@ B REAX EBiRFm
) &) oEEAs, A: AR (T R 5 RS )
. ‘ B 3. WHRGARNDQRER T 18 B EANRE. G ISR (BRI )
2 w4, WHBHARSOREERR CITIBEA. SHMEREERCER)
. = = 1. NFAGHRRAERE. THNTAOANERE, RRAG
S + 5 W AEERUNEESRERTIEL
I 4 A G s
|
ENE
BHAHS0 A0 HRRERE O BT S W HEIRS 6
PigHs® i s
TREAEEHE | RARGRUE Reatit O #ERRAR
WRARAR e e
IR B TR REMIRE)
N D4R P2
SMERSTRIUAR R R M TR &= (om) M2 RS AR SR
=8 VWK3000-110-01-C] | VWK3000-120-0-C | VWK3000-130-C1-C) | VWK3000-140-0-C] | VWK3000-150-C1-0)
THARES 110 120 130 140 150
BEBE H15 | H20 | H25 | W15 | H20 | W25 | W15 | H20 | W25 | H15 | H20 | H2s | W15 | H20 | W25
) WA (ER) 104~12 114~13 122~141 132~151 14~162
T we (#7) n~12 12~13 13~ 141 14~151 15~162
Frven 2102 5T SIS P20 BT Q130T o138 T %" WCE0601-2000 ~ WCE1001-2000 = WCE1601-2000 | WCE2501-2000
ERHEE = : = :
= 217N Q12054 91305k o141 BAE 9151 AL 9162 50k AT (FEO.SMPaBH) kN 06 10 16 25 40
ElHTE 3 3 34 34 38 —
A 437 [ 487 [ 537 | 437 [ 487 | 537 | 438 | 488 [ 538 | 438 | 488 | 538 | 439 [ 489 | 539 #ii n 9.5 2 .5 275 3
8 1 [ 155|205 | 11 [ 155 205 | n [ 155205 | 1| 15 | 20 [ 1| 15 | 20 Prsp— o 16 18 19.5 25 29
c 32| 4 | 4 [32] 4 |4 |32 4 |4 [32]a5]as[32]as5]|4s @5 -
3 98 | 95| 95 | 98 | 95 | 95 | 103 | 10 | 10| 103 | 10| 10 | 108] 105 | 105 R mm 35 4 4 4 4
F 9 |9 {9519 |9 | 959 |9 |95/ 9 |9 | 95|09 |9 ]|895 RAER B iR 12 212 348 552 942
G g |25 |40 | & |25 (a0 | & |25 |40 [ & |25 |40 | & |25 | a0
H 15 | 20 25| 15| 20 25| 15| 20 /[ 25| 15| 2] 2| 15]2]2s 102 195 330 521 905
J 4 4 45 45 L] om3 97 178 304 482 817
K 9 9 95 95 10
L 102:8%% 112888 120 988 130 §3% 138 -38% WES N 37.6~57.6 58.9~97.8 80.5~141.1 142.8~219.2 228.9~335.1
M 74 84 92 102 10 [ry— e oG
N 185 [ 12 [ 12 [1ss| 13 [ 13 [ss | 4 [ 14 5] 15 [ 15 [18s] 16 | 16
AB 197 197 193 193 189 RALSFRS MPa 0.2
A 5 5 55 55 6 B o 075
€ 06 06 07 07 08
c 9 10 106 16 122 i © 0~70
&) R4S RS R53 R58 R6.1
[T gl 100 120 140 | 110 [ 120 [ 140 | 110 [ 120 [ 140 | 110 [ 120 [ 140 | 110 [ 120 | 140




W09 NOYSOBYM} MMM

SR

ARTEE SRR (AT RGGR BT HIA, MFRIBAUEER)
#AERTWCE-2ACHR Bk

AA AG®
max.17_ B 2 1
" S mErm % Yh-gno o~ .
FHA DR /B T AT wERRGE [s S
R1/BREUET() 22n b s 1
(ERF-AL T T2 HH) Terels : 1]
IR P ) ERELE e
BEiR7y :CAL >8] 8 V B
ik @
<
4-9R
TR AR O:Re1/88E FHE) B
R /GREUET(H)
(R F-AR AT R 2 5100) =
TR AR OO EHEH) Nx
CA-oE) 6D 8
FEHUA R OO E:
(-A-GE)
REEM
HEH #D'Y
06

A L 0w
REH
WCE 060 1-2 G C  oor
S R B stes s
N RTRREBUMIRTER
WCE060’ WCE1001-2000  WCE1601-20J00 WCE2501-2000
19.5 22 235 275 33
16 18 19.5 235 29
os . . . .
17.5 20 215 255 31
s 128 1345 1575 18
54 60 66 76 87
45 50 56 66 78
M s B o 7
79.5 88 94.5 109.5 124.5
ses ) w05 705 s
25 25 25 30 30
31.5 35 38 43 48
225 2 2 B %
34 39 45 53 65
7 7 o o8 s
i i i K W
Nx 26 28 31 36 a1
Ny 9 10 13 15 20
P max.93 max.@5 max.@5 max.@5 max.@5
Q 9.5 9.5 9.5 11 11
R ss ss 5s os os
s 15.5 14 13.5 16 15
T 28.5 315 36 40 50.5
u 10 14 16 18 22
v 24 27 30 34 425
w 31 31 325 37.5 40.5
X 20.5 235 26 325 39.5
Y " " 13 16 18
z 10 1 21 28 a7
Em c2.5 c25 c3 c3 cs
N © 195 21 2 B
AB 76.1 72 76.5 92.2 1057
AC 49.8 46.9 50.9 62.7 747
Ao 5 5 s 0 0
AE 5 5 6 8 10
AG 216" 26.5° 26.4° 26.1° 25.2°
CA(Z xR 58) M5X0.5 M5X0.8 M5X0.8 M6 Mé
ZA(E) ca RS RS R6 R6
oREHECA-GH) 18p5 18p7 187 18p7 18p7
EE kg 0.5 0.6 0.9 1.4 23

W02 NOYSORYMI MMM




ABREUE R (AT REGRAEIE S, FRRBAUET)

J

B4 7716
=

g
/ 228

| A

@ BRiR(F 5 E )
iR 75 e CAL

K

155

SR R O OR Bt [ ()

W09 NOYSOBYM} MMM

TR {45 0 OF B2 4 ) (1 )

REBMIRT

£EH

635

L [ ECEE
WCE 060 1-2 G C D R
H mi551m
R 1 shieaka2 75 5t (R18DRE)
H
AW RTREEBEMIRTR
WCE0601-20J0JD | WCE10012(JJD | WCE1601-2[J0JD = WCE25012(JJD | WCE4001-2JCID
19.5 22 235 275 33
16 18 19.5 235 29
35 4 4 4 4
17.5 20 215 25.5 31
155 127 138.5 162.5 188.5
54 60 6 76 87
45 50 56 66 78
40 46 54 64 7
795 88 945 1095 1245
54.5 63 69.5 79.5 94.5
25 25 25 30 30
315 35 38 43 48
225 25 28 33 39
34 38 [ 5 o5
72 79 88 98 13
1" " " " 1"
26 28 31 36 41
9 10 13 15 20
max.03 max.05 max.05 max.05 max.05
o5 o5 a5 i T
5.5 5.5 5.5 6.8 6.8
15.5 14 13.5 16 15
285 315 36 20 50.5
10 14 16 18 22
2 27 30 3 425
31 31 325 37.5 40.5
20.5 235 26 325 39.5
T 1 B 16 18
19 19 21 28 37
c2.5 c2.5 c3 c3 Cc5
16 195 21 25 30
76.1 72 76.5 92.2 105.7
AC 49.8 46.9 50.9 62.7 747
AD 5 5 6 6 8
AE 5 5 6 8 10
AG 21.6° 26.5° 26.4° 26.1° 25.2°
CA(Z xR 3%6) M5X0.8 M5X0.8 M5X0.8 M6 M6
DA 1.5 12 12 12 12
DB 4 4 4 5 4.5
DC 225 28 33.8 416 54
DD 8 10 10 12 12
DE(2A#8xfi §8) M4X0.7 X10 M5X0.8X12 M5 X0.8 X12 M6 X 15 M6 X15
DF 6 8 8 10 10
ZA(EA) c3 RS R5 R6 R6
OREHME(-A/-GE) 1BP5 1BP7 1BP7 1BP7 1BP7
HE kg 0.5 0.6 0.9 1.4 2.3

W02 NOYSORYMI MMM




W09 NOYSOBYM} MMM

AR R (AT REGRATIZHIR,  TRRIBAEE)

#AERTWOE-2ACMMSR IR

max.17 B
H
' mirm
- w
55 (P %)
(PR F - ARY AT 230 8 FE 42 A ) 2ZA

M AR5 2 £
PR E1:CRY

@ -

155

B AAMO:RC1/8E
R1/BIREE TP )
(IR TF-ARY A 3R 2 )

RS AHREO:OR EHE(H )
(-A-GE)

Nx H

AMARED
(-A/-GEY)

REBMIR

BHAfEROOP

Nx

o

%E
REAHREOP /)

4-CAIREL

13

4R
2]

M AG
1
|
2
i
B
w o0}
|
i
GMB.
7 1| zmmgmn
= =%
. 3-ORIF H @ (M) BNERAO
= (%)
HEH 808
s\ |CO6
 —
\‘!
i
o T
H =
4 5., MBrs_ E%
3 , Z;% 04|
|, I
H
E —
2 3 264~06
Z Tl
|
E] ovc | \go
H

AT

L
mEAR
WCE0601-2G C M Besrn
S R I B2 st (R AEMAES)
1] 3] 4]
Sy R RREEBIMIR TR
WCE0601-2[JCIM WCE1001-2JCIM WCE1601-2[ (M WCE2501-2[JCIM WCE4001-2JCIM
195 22 225 275 &
e 0 Tos s )
as 4 0 0 4
s % as s 3
s 125 1aes 175 e
5 5 & w 7 o
c C %0 5 o 7
o 0 % 5 o 7
G 705 O 515 1095 £S5
G sis & w5 705 s
s 2 25 2 % %
" sis 5 s @ =
f 225 2 0 B %
K 5 @ [ B &
. 72 7 0 o T
W i W W 0 i
W 2 2 il s W
7 s 0 W s 2
, max.05 max 05 max 05 max.05 max.05
a os os o5 I i
R 55 55 55 o8 os
s s 0 as D s
T 285 ars % © X
v 0 0 0 D =
v 2 27 % & 25
W 3 an s w78 105
X 205 25 2 w2 s
v T T 0 0 D
B 0 0 2 2 5
fHA c2.5 c25 c3 c3 [
0 D s o 2 %
A8 761 72 765 w2z 1057
Ao 108 59 509 w27 747
"o s B B s s
he s s B s 0
AG 21.6° 26.5° 26.4° 26.1° 25.2°
CA(Z xR 5E) M5X0.8 M5X0.8 M5 X0.8 M6 M6
A w s [ 5 5
e 2003 2630 20 208 a0 538 ]
o 2o Gei s sase Soe
o 212 202 202 w02 w0z
o 0 s o o e
[ o 025 [ s T
v s o 705 ws w5
o 0 0 0 0 B
[ 0 0 D 0 0
s s 0 s 0 B
i 0 s T (B W
e 563 5 Ties Tais G5
ZA(f ) c3 RS RS R6 R6
ORIF 3 #(-A/-GR) 1BPS 1BP7 1BP7 1BP7 1BP7
3-OMEHE ) ) ) ) 5
ER kg 0.6 0.7 1.0 1.6 2.5

W02 NOYSORYMI MMM




W09 NOYSOBYM} MMM

Model WCE BaENRIITH

2 Az P

WCE0601 | WCE1001 | WCE1601 | WCE2501
[ T 16 19.5 21 25
Vi 125 125 16 20

/ 8 105: 1035, 125, 1635

/ 2 5 0 5 00 600 500

5 oo oo oo o
\ 5 5 6 8
e 10 10 13 13
B R25 R25 R3 R4
10 10 13 13
T Ra5 Ras Re R6
):l T i ol 4.5 4.5 6 6
= BB N 25 25 35 6
& a5 s 6 5

WCZ 0600- L2

HFZ

—E

1. BERED, AFEANXES

. HEEM, TS

3. RTLABY AL R i ¢S T 40 TR 3R G R T
4. BERHRARITAR

5. MERA, HEKRRRE

6. BiEEEMIERAETER

1, driven by air, with strong support
2, save space, compact structure
3, can prevent the vibration of die casting or thin
sheet workpiece processing
4, easy to combine with pneumatic fixture
5, open pipe air, convenient assembly and maintenance
6, dust cover physical isolation chip liquid

o

= WCZ2500-
ERER) WCE0601 | WCE1001 WCE1601 WCE2501

A 80 90 100 15

] 1052 103, 1255 1655

3 125 125 16 20

D 5 5 6 8

E 125 125 16 17

F R2.5 R2.5 R3 R4

] 10 10 13 13

N 4.5 4.5 6 6

P 16 195 21 25

R 4.5 4.5 6 6

s 25 25 35 6

T 5907 5907 6907 57907
N| pxoo2 m 5907 5507 50" 330

15

HFZ25P HFZ32Q
IEREIMpa 055 15
RN o svpa 0.25 075
EETE mm 10 10
REEH cm3 2.45 3.69
EELAAN N 1.6~5.2
BREIEES  Mpa
RIETIEES  Mpa 0.4
i B Mpa 1.5
TERE T 0~70

W02 NOYSORYMI MMM



